Honors Calculus, Math 1451, HW3, Solution \$13,4

16. Given $\overline{a}(t) = z\overline{z} + 6t\overline{z} + 12t^2\overline{k}$, and $\overline{V}(0) = \overline{z}$, $\overline{r}(0) = \overline{j} - \overline{k}$. Find the velocity $\overline{V}(t)$, we have

$$\vec{V}(t) = \vec{V}(0) + \int_{0}^{t} \vec{a}(u) du$$

$$= \langle 1, 0, 0 \rangle + \int_{0}^{t} [2\vec{c} + 6u\vec{j} + 12u^{2}\vec{k}] du$$

$$= \langle 1, 0, 0 \rangle + (2t\vec{c} + 3b^{2}\vec{j} + 4t^{3}\vec{k}) = \langle 2tt1, 3t^{2}, 4t^{3} \rangle$$
and the position $\vec{T}(t)$, we have
$$\vec{T}(t) = \vec{F}(0) + \int_{0}^{t} \vec{V}(u) du = \langle 0, 1, -1 \rangle + \int_{0}^{t} [\xi [u+1)\vec{c} + 3u^{2}\vec{j} + 4u^{3}\vec{k}] du$$

$$= \langle 0, 1, -1 \rangle + (t^{2}+t)\vec{c} + (t^{3})\vec{j} + (t^{4})\vec{k} = \langle t^{2}+t, t^{3}+1, t^{4}-1 \rangle$$

18. (a) Given $\vec{a}(t) = t\vec{t} + e^t\vec{j} + e^t\vec{k}$, $\vec{v}(o) = \vec{k}$, $\vec{r}(o) = \vec{j} + \vec{k}$. The velocity $\vec{v}(t)$ which has the given acceleration and initial velocity is $\vec{v}(t) = \vec{v}(o) + \int_0^t \vec{a}(u)du = \vec{k} + \int_0^t [u\vec{t} + e^u\vec{j} + e^u\vec{k}]du$ $= \vec{k} + [\frac{t^2}{2}\vec{t} + e^t\vec{j} - e^t\vec{k}] = \frac{t^2}{2}\vec{t} + e^t\vec{j} + (-e^t+1)\vec{k}$ and The position vector which has the given initial position is $\vec{r}(t) = \vec{r}(o) + \int_0^t \vec{v}(u)du = \vec{j} + \vec{k} + \int_0^t [\frac{u^2}{2}\vec{t} + e^u\vec{j} + (-e^u+1)\vec{k}] du$

$$= \overline{jt}\overline{k} + \frac{t^{3}}{6}\overline{t} + e^{t}\overline{j} + (\overline{e^{t}} + t)\overline{k}.$$

$$= \frac{t^{3}}{6}\overline{t} + (e^{t} + 1)\overline{j} + (\overline{e^{t}} + t + 1)\overline{k}.$$

(b).

24. A projectile is fired from a position 200m above the ground with an initial speed 500 m/s and angle of elevation 30°. We have $\overline{V_{10}} = \frac{500 \text{ m/s}}{120^{\circ}} = 500 \cdot \cos(30^{\circ})\overline{1} + 500 \cdot \sin(30^{\circ})\overline{5}$ $= 250.53\overline{1} + 250\overline{3}$

and $\vec{T}(0) = 200\vec{J}$, and $\vec{a}(t) = -9.8\vec{J}$ Then $\vec{V}(t) = \vec{V}(0) + \int_0^t \vec{a}(u) du = (250\vec{J}\vec{c}+250\vec{J}) + (-9.8t)\vec{J}$ $= 250\vec{J}\vec{c} + (250 - 9.8t)\vec{J}$.

and $\vec{F}(t) = \vec{F}(0) + \int_{0}^{t} \vec{V}(u) du = 200\vec{j} + (250 \text{ B})t\vec{j} + (250 \text{ C})t\vec{j} + (250 \text{ C})t\vec{j} + (200 \text{ C})$

So as
$$t = \frac{250 \pm \sqrt{5500}}{918}$$
, the ball hits the ground
and $\chi(t) = 250.55t = 250.55(\frac{250 \pm \sqrt{5850}}{918})$ is the fareat distance.
(b) the maximum height reached is finding the t as $\chi(t)=0$
 $\Rightarrow \chi(t)=250-918t=0 \Rightarrow \chi=\frac{250}{918}$
Then $\chi(t)=200\pm250,\frac{250}{918}-419(\frac{250}{918})^2$ is the maximum height
of the ball.
(c) the speed at impact is as the ball hits the ground.
as $\chi=\frac{250\pm\sqrt{5550}}{918}$, we have.
 $V(t)=250.55t+(15858)$ we have.
 $V(t)=250.55t+(15858), J=$

40, Given a particle with mess m with position vector $\vec{F}(t)$. Then angular momentum is $\vec{L}(t) = m \vec{F}(t) \times \vec{V}(t)$ and its torgue is $\vec{E}(t) = m \vec{F}(t) \times \vec{a}(t)$, we have

$$\vec{U}(t) = m \vec{r}(t) \times \vec{v}(t) + m \vec{r}(t) \times \vec{v}(t)$$

$$= m \vec{r}(t) \times \vec{v}(t) + m \vec{r}(t) \times \vec{a}(t)$$

$$= 0 + m \vec{r}(t) \times \vec{a}(t) = \vec{t}(t)$$

$$(\vec{v} \times \vec{v} = |\vec{v}| |\vec{v}| \cdot sin(0) = 0)$$

So if
$$\overline{t}(t)=\overline{0}$$
 for all t , we have.
 $\overline{L}(t)=\overline{0} \implies \overline{L}(t)$ is constant.
42. Given the velocity of a rocket $\overline{V}(t)$, mass $m(t)$,
the velocity of the escape gases $\overline{V}e$, and we have
 $m \frac{d\overline{V}}{dt} = \frac{dm}{dt} \cdot \overline{V}e \implies \frac{d\overline{V}}{dt} = \frac{1}{m(t)} \frac{dm(t)}{dt} \overline{V}e$.
(a) Then we have $\overline{V}(t)$.
 $\overline{V}(t)=\overline{V}(0) + \int_{0}^{t} \overline{V}(t) du = \overline{V}(0) + [\ln(m(t))] \overline{V}e \Big|_{0}^{t}$
 $= \overline{V}(0) + [\ln(m(t))] \cdot \overline{V}e$.
 $= \overline{V}(0) - [\ln(m(t))] \cdot \overline{V}e$.

(b)
$$\vec{V}(0)=0 \rightarrow \vec{V}(t)=2\vec{V}e$$

First, find the t such that $\vec{V}(t)=2\vec{V}e$.
 $\Rightarrow -2\vec{V}e = \vec{V}(t) = \vec{V}(0) - \left\{ ln\left[\frac{m(0)}{m(t)}\right] \right\} \vec{V}e = 0 - \left\{ ln\left[\frac{m(0)}{m(t)}\right] \right\} \vec{V}e$.
 $\Rightarrow -2 = -ln\left[\frac{m(0)}{m(t)}\right] \Rightarrow \frac{m(0)}{m(t)} = e^{t^2} \Rightarrow \frac{m(t)}{m(0)} = e^{t^2}$
 $\Rightarrow The rocket have to burn $1-e^2$ of its own initial mass,$

Homework 3

Math 1451 Accelerated Calculus Spring 2016

Problem 1. Showing Kepler's 2nd Law Solution 1. Given $e_r = (\cos\theta, \sin\theta)$ and $e_\theta = (-\sin\theta, \cos\theta)$ we have:

$$r = re_r$$
 and $\dot{e_r} = \dot{\theta}(-\sin\theta, \cos\theta) = \dot{\theta}e_{\theta}$.

Our goal is to find acceleration.

$$v = \frac{dr}{dt} = \dot{r}e_r + r\dot{e}_r = \dot{r}e_r + r\dot{\theta}e_\theta$$
$$a = \frac{dv}{dt} = \ddot{r}e_r + \dot{r}\dot{e}_r + (\dot{r}\dot{\theta} + r\ddot{\theta})e_\theta + r\dot{\theta}\dot{e}_\theta$$

Now,

$$\dot{e_{\theta}} = \dot{\theta}(-\cos\theta, -\sin\theta) = -\dot{\theta}e_{\theta}$$

Rewriting acceleration gives:

$$a = (\ddot{r} - r\dot{\theta}^2)e_r + (r\ddot{\theta} + 2\dot{r}\dot{\theta})e_\theta = fe_r$$

We are looking good now! Since e_r and e_{θ} are orthogonal we can break acceleration into 2 parts:

$$\ddot{r} - r\dot{\theta}^2 = f$$
 and $r\ddot{\theta} + 2\dot{r}\dot{\theta} = 0$ since all force is in the radial direction.

We conclude

$$\frac{d(r^{2\dot{\theta}})}{dt} = r\ddot{\theta} + 2\dot{r}\dot{\theta} = 0$$

Solution 2.

Given that angular momentum is conserved we have:

$$\begin{split} C &= r \times \dot{r} = (r cos \theta i + r sin \theta j) \times (\dot{r} cos \theta - r sin \theta \dot{\theta}) i + (\dot{r} sin \theta + r cos \theta) j \\ & \underbrace{ \begin{array}{cc} \mathrm{i} & \mathrm{j} & \mathrm{k} \\ \hline r cos \theta & r sin \theta & 0 \\ \dot{r} cos \theta - r sin \theta & \dot{r} sin \theta + r cos \theta \dot{\theta} & 0 \\ \end{array} \\ &= (r \dot{r} cos \theta sin \theta + r^2 cos^2 \theta \dot{\theta} - r \dot{r} cos \theta sin \theta + r^2 sin^2 \theta) k \\ &= r \dot{r} (e_r \times e_r) + r (r \dot{\theta}) k = r (r \dot{\theta}) k \end{split}$$



\$14.1 30. (a) f(x,y)=1x1+1y1, The contour map of f(x,y) is. \Rightarrow \mathbb{T} (b) f(xy) = 1xy1. The contour map of foxy) is $\searrow \mathbf{V}$ ×κ



\$141 56. $Z = e^{x} \cos(y)$ (a) graph by (b) $\Rightarrow (A)$

58. Z=Sin(X)-sin(y)

 $by(b) \Rightarrow (E)$

(a) graph



as $y = (h-1)T \Rightarrow z = \begin{bmatrix} e^{x} & h=1,3,5 \\ -e^{x} & h=2,4,6 \end{bmatrix}$



Both x if direction are periodic So when one is fixed, the other will be a size function

$$60_{1} = \frac{x-y}{|tx^{2}ty^{2}}$$

$$bot = \frac{x-y}{|tx^{2}ty^{2}}$$

$$bot = \frac{x}{2} \times \frac{y}{k} \times \frac{1}{|tx^{2}ty^{2}} = x - y \Rightarrow kx^{2} + ky^{2} + k - x + y = \delta$$

$$\Rightarrow k(x^{2} - \frac{x}{k} + \frac{1}{|tx^{2}|}) + k(y^{2} + \frac{y}{k} + \frac{1}{|tx^{2}|}) + k - \frac{1}{2k} = 0$$

$$\Rightarrow k(x - \frac{1}{2k})^{2} + k(y + \frac{1}{2k})^{2} + \frac{2k^{2}-1}{2k} = 0 \quad \text{which is}$$

$$(a) \quad by(b) \Rightarrow (D).$$

$$(b) \quad (b) \quad (c) \quad$$

8.
$$\lim_{(x,y) \to (1,0)} \ln\left(\frac{1+y^2}{x^2+xy}\right)$$

Let $X = rcoso - 1 \cdot y = rsino, we have
 $\lim_{(x,y) \to (1,0)} \ln\left(\frac{1+y^2}{x^2+xy}\right) = \lim_{r \to 0} \ln\left(\frac{1+r\sin 0}{r\cos 0 - 2r\cos 0 + 1 + r\cos 0 \sin 0}\right) = \ln(1) = 0$
Limit exists and equal 0.
12. $\lim_{(x,y) \to (0,0)} \frac{6x^2y}{2x^4+y^4}$
10 Check path $x=y$, we have $\lim_{(x,y) \to (0,0)} \frac{6x^2y}{2x^4+y^4} = \lim_{x \to 0} \frac{6x^4}{3x^4} = 2$.
(xy) $\frac{6x^2y}{3x^4} = 2$.
(xy) $\frac{6x^2y}{3x^4} = 2$.
(xy) $\frac{6x^2y}{3x^4} = 2$.
Since we get two different limits for two different paths.
The Limit doesn'st exist.
30. $F(x,y) = \frac{x-y}{1+x^2y^2}$
First, the domain of F(xy) is $|R^2 + r \frac{5}{3}(xy)|^{10} < x, y < r0$ of
 $qvd = 0$. For $v = 0^{-1}$$

(xig)= $\frac{a-b}{1+a^2+b^2}$, Then the set of points fixing) (xig)=(ab) is R^2 .

36,
$$f(x_iy_iz) = \int x+y+z$$

First, if $x+y+z \ge 0$. $f(x_iy_iz)$ is defined.
Then since $\lim_{(x_iy_iz)=(a+b+c)} f(x_iy_iz) = \int a+b+c \ge 0$.
 $(x_iy_iz)=(a+b+c)$ if $a+b+c \ge 0$.
Thus the set of point $f(x_iy_iz)$ is continuous is
 $f(x_iy_iz) = \int x+y+z \ge 0$.



$$\frac{2}{3} \frac{1}{(fx)} |_{(1,2)} = \frac{1}{(1,2)} = \frac{1}{2} \frac{1}{(1,2)} = \frac{1}{$$

Pilc

$$(6., f(x_{1}y_{1}) = x^{4}y^{3} + 8x^{2}y.$$
Then $f(x_{1}y_{1}) = x^{4}y^{3} + 8x^{2}y.$

$$(8., Green f(x_{1}y_{1}) = \sqrt{x} \ln(t).$$

$$Then f_{x}(x_{1}z_{1}) = \sqrt{x} \ln(t) \text{ and } f_{x}(x_{1}z_{1}) = \frac{\sqrt{x}}{2}$$

$$20., Green f(x_{2}y).$$

$$Then \frac{\partial z}{\partial x} = y \cdot \sec^{2}(x_{2}y) \quad \text{and } \frac{\partial z}{\partial y} = x \cdot \sec^{2}(x_{2}y)$$

$$28., Green f(x_{2}y) = \int_{y}^{x} \cos(t^{2})dt = \int_{0}^{x} \cos(t^{2})dt - \int_{0}^{y} \cos(t^{2})dt$$

$$Then f_{x}(x_{2}y) = \cos(x^{2}) \quad \text{and } f_{y}(x_{2}y) = -\cos(y^{2}).$$

$$F.T.C$$

$$37., Green U = \sqrt{x^{2} + x^{2} + \dots + x^{2}}$$

$$Then \frac{\partial U}{\partial x_{1}} = \frac{2x^{2}}{\sqrt{x^{2} + x^{2} + \dots + x^{2}}} = \frac{x_{1}}{\sqrt{x^{2} + x^{2} + \dots + x^{2}}}, \quad \dots, \quad \frac{\partial U}{\partial x_{2}} = \frac{x_{2}}{\sqrt{x^{2} + x^{2} + \dots + x^{2}}}, \quad \dots, \quad \frac{\partial U}{\partial x_{1}} = \frac{x_{2}}{\sqrt{x^{2} + x^{2} + \dots + x^{2}}}$$

DII

38. Given
$$U = Sin(x_1 + 2x_2 + 111 + nx_n)$$

Then $\frac{\partial U}{\partial x_1} = 1 \cdot \cos(x_1 + 2x_2 + 111 + nx_n)$, $\frac{\partial U}{\partial x_2} = 2\cos(x_1 + 2x_2 + 111 + nx_n)$,
 $\frac{\partial U}{\partial x_1} = \hat{J}\cos(x_1 + 2x_2 + 111 + \hat{J}x_1 + 111 + nx_n)$,
 $\frac{\partial U}{\partial x_1} = n\cos(x_1 + 2x_2 + 111 + \hat{J}x_1 + 111 + nx_n)$.

46, Given yz=ln(x+z) To Find 32, we do "32" on both sides and get $y \frac{\partial \mathcal{X}}{\partial x} = \frac{1}{x+z} \cdot (1+\frac{\partial \mathcal{X}}{\partial x}) \Rightarrow (y-\frac{1}{x+z})\frac{\partial \mathcal{X}}{\partial x} = \frac{1}{x+z}$ =) == Y(x+z)-| Similarly, during " by" on both sides and we get $Z + Y \stackrel{\sim}{\rightarrow} = \frac{1}{\chi_{+2}} \stackrel{\sim}{\rightarrow} \stackrel{\sim}{\rightarrow} \stackrel{\sim}{\rightarrow} (\frac{1}{\chi_{+2}} - Y) \stackrel{\sim}{\rightarrow} = Z \stackrel{\sim}{\rightarrow} \stackrel{\sim}{\rightarrow} = \frac{\chi(\chi_{+2})}{\chi_{+2} - Y}$ 48. Given Sin(242)= x+24+32. Cos(xyz)·[yz+xy꽃] = 1+33 Doing " on both sides and we get $\Rightarrow (xy\cos(xyz) - 3)\frac{\partial^2}{\partial x} = 1 - yz\cos(xyz) \Rightarrow \frac{\partial^2}{\partial x} = \frac{1 - yz\cos(xyz)}{xy\cos(xyz) - 3}$ Doing " 3y" on both sides and we get cos(xyz). [xz+xy 3z] = 2+33z $\Rightarrow (\chi_y \cos(\chi_y z) \rightarrow) = 2 - \chi_z \cos(\chi_y z) \Rightarrow \frac{\partial z}{\partial y} = \frac{2 - \chi_z \cos(\chi_y z)}{\chi_y \cos(\chi_y z) - 3}$